ExERrcIsE 1.1

1. (a) Lahulspiti: —8°C, Srinagar: —2°C, Shimla: 5°C, Ooty: 14°C, Bangalore: 22°C
(b) 30°C (c) 6°C (d) Yes;, No 2. 3
3. —-7°C; -3°C 4. 6200m 5. By apositiveinteger; Rs 358
6. By anegative integer; — 10. 7. (i) isthe magic square
9. (@ < (b) < () > (d s<
(e) >
10. (i) 11jumps (i) 5jumps (i) @-3+2-3+2-3+2-3+2-3+2-3=-8
(b) 4—2+4-2+4=8
8in (b) represents going up 8 steps.
EXERCISE 1.2
1. Onesuch pair could be:
(a -10,3 (b) —-6,4;,(-6-4=-10) (c) 3,3
2. Onesuch pair could be:
@ —2,-10; [-2—(-10) =8] (b) —6,1
© 1,2,(-1-2=-3)
3. Scores of both the teams are same, i.e., =30; Yes
4. (i) -5 @ o @iy -17 (iv) -7
(v) -3
ExERcISE 1.3
1. (@ -3 (b) —225 (c) 630 (d) 316 (e) O
(f) 1320 (9) 162 (hy -360 (i) -24 G 36
3. (i) —a @M @22 (b)-37 (c)0
4, Ax5=-5-Ax4=-4=-5+1-1x3 =-3=-4+1,
—1x2=-2=-3+1,-1x1=-1=-2+1,-1x0=0=-1+1s0,-1x(-1)=0+1=1
5. (a) 480 (b) —53000 (c) —15000 (d -4182
(e) —62500 (f) 336 (g) 493 (h) 1140
6. —10°C 7. ()8 (ii)15 (iii)0O
8. (@) Lossof Rs1000 (b) 4000 bags
9. (@ -9 (by -7 (c) 7 d -11




I T- '/ ATHEMATICS
ExERcIsE 1.4
1. (@ -3 (b) -10 () 4 d -1
(e) —13 (f) O (9 1 (hy -1 i1
3. (@ 1 (b) 75 (c) —206 d -1
(e) —87 (f) —48 (@ -10 (h) -12
4. (-6,2),(-12,4), (12,-4),(9,-3), (-9, 3) (There could be many such pairs)
5. 9pm.;-14°C 6. ()8 (ii)13 7. 1hour
ExERcISE 2.1
7 39 4Z Lo 31 9
1. (i) 5 (i) 8 8 (iii) 5 (@iv) 165
13 3 37 1 39 7
W's % WG % UG 4
. 282 . 731 @ }
2. () 3219 (i) 107’5 3. Yes 4. 3 463 cm
 ol7 N 5 . .
5. () 82—0cm (i) 7gcm; Perimeter of AABE is greater.
6 iCm 7 2. RitU'1 8. Vabhav; b 1ofanhour
10 C 5 g ' Y :
EXxERCISE 2.2
1.() (d) (i) (b) (i) (a) (iv) (c)
2. () (o (i) (a (i) (b)
1 1 5 1 2
3. () 4% (i) 13 (i) 1= v) 13 V) 23
. a2 . 1
(vi) 15 (vii) 67 (viii) 16 (ix) 45 x) 9

4. Oneway of doing thisis: A A A OOO0OQ0oQd

AAA| |lOooOoO

AAA OooOd
() (i (i)

5. (@ ()12 ()23 (b) ()12 (ii)18 (©) ()12 (ii)27 (d)(i) 16 (i) 28

00O
OXOLOX®)
OXOJOX®)




(€)

3 3
15— 33—
5 (b) 4
1 1
19— 27—
2 ® 5

0L )2

S S R
.0 @35 B 55 ©F
2. () 1% (i) g
5 NPEE
v 3 V) 155
3. () 2% (i) 4%
4. (i) §Of§ (i) 1Of§
' 5 8 2 7
@ )55 ()5
: .. 84
1. () 16 (i) 5

2. ()

7
3 (improper fraction)

5
(>iv) s (proper fraction)

(vii) 11 (whole number)

3. ()

4. (i)

(vi)) S

! T
6 W 25
4 2
5 0 3
48 11

(viii) 5

INNSW=ae) 295
(C) 15% (d) 25%
b () 2% (ii) 62—14 8. (i) 2litres (ii)g

(i) 8

EXERCISE 2.3

1
2—m
5. 2

(ii)

(i)

(v)

(ii)

(ii)

(i)

(ii)

(vii)

(iv)

6.

(b)

2,6 3
@ g ® % © =
9
16

1
48

(iv)

33

2i (V) 1

42

10%hours 7. 44Kkm

.8 8
(I)E(II)E

EXERCISE 2.4

k2 3

7 (iv) 2 (v)
8 . .
5 (improper fraction) (iii)
7 . :
I (proper fraction) (vi)
6 ) B3

ol ™) v)
3 -

o V) 3 v)

12
25

4 1
N Lol
(vi) 5 (vii) -
9 7
7 W 5
7 .
9 (proper fraction)

8(whole number)

7 vy 3t
8 M) %9
21 L4
16 V) 15
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1. (i) 05 @) 0.7 @iy 7 (iv) 1.49 (v) 230
2. () Rs0.07 (i) Rs7.07 (i) Rs77.77 (iv) Rs0.50 (v) Rs2.35
3. (i) 0.05m,0.00005km (i) 3.5cm, 0.035m, 0.000035 km
4. () 0.2kg (i) 3.470kg (iii) 4.008kg
. 1 . 1
5. () 2><10+0><1+0><E+3><ﬁ (i) 2><1+0><E+3><R
(i) 2x100+0x10+0x1+0x E+3x 100
i 2x1+0xi+3xi+4x—
) 10 °7 100" 1000
6. () Ones (i) Hundredths (iii) Tenths (iv) Hundredths (v)
7. Ayubtravelled moreby 0.9 kmor900m 8. Saralabought morefruits
EXERCISE 2.6
1. () 12 (i) 36.8 (iii) 13.55 (iv) 804 (v) 0.35
(vii) 1.72
2. 17.1cm?
3. () 13 (i) 368 (i) 1537 (iv) 1680.7 (v) 3110
(vii) 362  (viii) 4307 (ix) 5 (x) 0.8 (xi) 90
4. 553km 5. (i) 0.75 (i) 517 (i) 63.36 (iv) 4.03
(vi) .68  (vii) 0.0214 (viil) 10.5525 (ix) 1.0101 (x) 110.011
EXERCISE 2.7
1. (i) 02 @) 0.07 (iii) 0.62 (iv) 109 (v) 16238
(vii) 0.99 (vii) 0.16
2. () 048 (i) 525 (iiiy 0.07 (iv) 331 (v) 27.223
(vii) 0.397
3. () 0.027 (i) 0.003 (i) 0.0078 (iv) 4.326 (v) 0.236
4. (i) 00079 (i) 0.0263 (iii) 0.03853 (iv) 0.1289 (v) 0.0005
5. () 2 (i) 180 (i) 6.5 (iv) 442 (v) 2
(vii) 510 (vii) 27 (ix) 21 6. 18km
ExERrcISE 3.1
2 Marks Tally Marks Frequency
1 | 1
2 I 2

EXERCISE 2.5

Thousandths
9. 14.6km

(Vi)

(Vi)

(Vi)
(xii)
v)

(Vi)

(Vi)

(Vi)

(Vi)

0.88

844.08

15610

0.025

2.07

0.056

0.9853

31
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ANSWERS

3 | 1
4 I 3
5 m 5
6 Il 4
7 I 2
8 | 1
9 | 1
@i 9 @i 1 (i) 8 (iv) 5
. . ... 0+8+6+4 18 9
2 4, 50 5. (i) 125 (ii) 3 (i) ——— =ZOFE (iv) A
() Highest marks= 95, Lowest marks=39  (ii) 56 (iii) 73 7. 2058
(i) 20.5 (ii) 5.9 (iii)5 9. (i)151cm (ii)128cm (iii))23cm  (iv) 1414cm (V)5
ExERCISE 3.2
Mode = 20, Median = 20, Yes. 2. Mean= 39, Mode = 15, Median = 15, No.
(i) Mode = 38, 43; Median =40 (i) Yes, there are 2 modes.
Mode = 14, Median = 14
M T (i) F @y T (iv) F
ExERCISE 3.3
(a) Cat (b) 8
(i) Maths (i) S. Science (i) Hindi
(i) Cricket (i) Watching sports
(i) Jammu (i) Jammu, Bangalore
(i) Bangalore and Jaipur or Bangalore and Ahmedabad (iv) Mumbai
ExXERCISE 3.4
(i) Certainto happen (i) Can happen but not certain (iii) Imposible
(iv) Can happen but not certain (v) Can happen but not certain
o1 o1 3 1
0 5 @ 3 5
ExERCISE 4.1
() No. (i) No (i) Yes (iv) No (v) Yes (vi) No

(i) Yes (vii) No (ix) No x) No (xi) Yes
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N

. (9
3. ()

4. (i)

v)

(i)

(ii)
V)
(vii)
(viii)
6. ()

1. (d
(c)
(e)
(9
2. (8

(c)

(€)

(9)

(c)

(9)

No (b) No (c) Yes

p=3 (i) m=6

X+4=9 (i) y—-2=8

3t : N
Z =15 (Vi) 7m+7=77 (vii)
Z 3 30

3

Thesumof pand 4is15
Twice anumber mis7

(i)
(iv)
(Vi)

Three-fifth of anumber mis6

(d) No (e) No (f) No

(i) 10a=70  (iv) §=6

%-4:4 (vii) 6y—6=60
7 subtracted frommis 3

One-fifth of anumber mis 3
Three times anumber p when added to 4 gives 25

2 subtracted from four times a number pis 18

Add 2 to half of anumber p to get 8

5m+7=37 (i) 3y+4=49 (ii)

21+7=87 (iv) 4b=180°

EXERCISE 4.2

Add 1to both sides; x=1
Add 1 to both sides; x =6

(b)
(d)

Add 4 to both sides; y = -3 ()
Subtract 4 from both sides; y =0 (h)
Divideboth sidesby 3;1 =14 (b)
Multiply both sidesby 7; p=28 (d)
- . 36
Divide both sidesby 8; y = 5 (f
. . 7

Multiply both sidesby 5; a= 5 (hy
Step 1: Add 2 to both sides (b)
Step 2: Divide both sidesby 3; n=16
Step 1: Multiply both sideshy 3 (d)
Step 2: Divide both sidesby 20; p=6
p=10 (b p=9 () p=20

s=—-4 (h) s=0 i) g=3

Subtract 1 from both sides; x = -1
Subtract 6 from both sides; x = -4
Add 4 to both sides; y =8

Subtract 4 from both sides; y =—8
Multiply both sidesby 2; b=12

25
Divide both sidesby 4; x = T

15
Multiply both sideshy 3; z= 1

1
Divide both sidesby 20; t = 5

Step 1: Subtract 7 from both sides
Step 2: Divide both sidesby 5; m=2
Step 1: Multiply both sides 10
Step 2: Divide both sidesby 3; p=20
(d p=-15 () p=8
() 9=3 (k) g=-3

(f) s=-3
0 gq=3



12.
13.

(@)

(9)

(@)

()

(@)

(@)
(b)

(@)

(d)

(9)

(@
(i)

()
()
()
(v

. 45°

(i)
(i)
(i)
(i)
(i)
(vi)

EXERCISE 4.3

18
y=8 (b t="5" (c) a=-5 (d g=-8
=2 M oz=2 0 1= ) b=12
m=_ () z=- 0 1= () b=
x=2 (b) n=12 () n=-=2 () y=4
x=- 1 © p=7 () p=7
_ 14 _S __6 _
P= 0 p=7 () p= S (d t=0

x 2
Equations are: 10x + 2 = 22; §=§;5X_3:7

Equationsare: 3x=—-6; 3x+7=1;3x+10=4

EXERCISE 4.4

X
8x+4=60;,x=7 (b §_4=3;X=35
2m-11=15; m=13 () 50-3x=8;x=14

Answers IIIFFF I

_ fy oxz 2
(@ x=-4 () x=7
17
(e x—:
(e) t=3 (f m=2

(©) %y+3=21;y=24

x+19

Q) =8;x=21

(c) Sachin: 132 runs, Rahul: 66 runs

(i) supplementary
(vi) complementary

6. 2 will increase with the same measure as the decreasein 1.

5n 11
5 7 = > :n=5
Lowest score = 40 (b) 70° each
6 (i) 15years @iy 25 4. 0
EXERCISE 5.1
70° @ 2r @iy 33°
75° @i 93 (i) 26°
supplementary (i) complementary
supplementary (v) complementary
5. 90°
No (i) No (i) Yes 8. Lessthan 45°
Yes (i) No (i) Yes (iv) Yes

L1, 24, /5, 22+ /3 (i) £1,25; 24,25

x=55°y=125° z=125°
90° (i) 180°
obtuse angles

(iii) supplementary

(v) Yes (viy «£COB

. Z1and £2 are not adjacent angles because their vertex is not common.
(i) x=115°y=140° z=40°

(iv) linearpar  (v) equa
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(i) £AOD, £BOC (i) «EOA, ZAOB (i) «EOB, LEOD
(iv) £EOA, LEOC (v) «£AOB, ZAOE; ZACOE, ZEOD; LEOD, ZCOD
EXERCISE 5.2
(i) Corresponding angle property (i) Alternateinterior angle property

(ifi) Interior angles on the same side of the transversal are supplementary
() £1,25 22, £6: /3, /7, 24, /8 (i) 22,8, 43,45
(i) «£2,25,23,/8 (iv) Z1,23;,£2,/4,/5,/7, /6, /8
a=55° b=125° c="55°% d=125° e=55° f = 55°
(i) x=70° (i) x=60° (i) x=100°

(i) «DGC=70° (i) «DEF=70°
(i) lisnotparallel tom (@ii) lisnot parallel tom
(i) lisparallel tom (iv) lisnot paralel tom

ExXERCISE 6.1

. Altitude, Median, No.

EXERCISE 6.2
() 1200 (i) 110° (i) 70° (iv) 120° (v) 100° (Vi) 90°
() 65 (i) 30° (i) 35° (iv) 60° (v) 50° (Vi) 40°

EXERCISE 6.3

@ 7o° (i) 60° (i) 40° (iv) 65° (v) 60° (vi) 30°
(i) x=70°y=60° (i) x=50°y=80° (i) x=110°y=70°
(iv) x=60°y=90° (v) x=45°y=90° (vi) x=60°y=60°

EXERCISE 6.4

(i) Notpossible (i) Possible (iii) Not possible
() Yes (i) Yes (i) Yes 3. Yes 4. Yes 5. No
Between 3 and 27

EXERCISE 6.5
26cm 2. 24cm 3. 9m 4. (i)and(iii) 5. 18m 6. (i)
98 cm 8. 68cm
EXERCISE 7.1
(@) they have the same length (b) 70° () mZA=m«B
ZA & LF, /B <> LE, /C > £D, AB < FE, BC < ED, AC < FD
() «C (i) CA (i) <A iv) BA



10.

Answers IEET LI

EXERCISE 7.2

(@) SSSCongruencecriterion (b) SAS Congruence criterion

(c) ASA Congruencecriterion (d) RHS Congruence criterion

(@ (i) PE (ii) EN (iii) PN (b) (i) EN (ii) AT

(c) (i) ZRAT = ZEPN (ii)ZATR = ZPNE

(i) Given (i) Given (i) Common (iv) SAS Congruence criterion 4. No
AWON 6. ABTA, ATPQ 9. BC=QR, ASA Congruence criterion

ExERcCISE 8.1

(@ 101 (b) 5007 (c) 1003 (d 201 2. 12 computers
() Rajasthan: 190 people; UP: 830 people (i Rajasthan

EXERCISE 8.2

4
(a 12.5% (b) 125% (c) 7.5% (d) 287%
(a) 65% (b) 210% (©) 2% (d) 1235%
1 3 3
i) =,25% i =600 i) —;37.5%
@) 2 0 (i) 5,60/0 (iii) 3 0
3
(@ 375 (b = minute or 36 seconds (c) Rs500

(d) 0.75kgor 750g
(@) 12000 (b) Rs9,000 (c) 1250km (d) 20minutes (e) 500litres

1 3 1 1
. . . . 0,
(8025 5 () 155 (© 02 ¢ (@) 005 7. 30%

40%; 6000 9. Rs4,000 10. 5 matches

EXERcISE 8.3

(@) Profit = Rs 75; Profit % = 30 (b) Profit = Rs 1500; Profit % = 12.5
(c) Profit = Rs500; Profit % = 20 (d) Loss=Rs100; Loss % =40
(8 75%; 25% (b) 20%, 30%, 50% (c) 20%; 80% (d) 12.5%; 25%; 62.5%
5
2% 4. 57% 5. Rs12,000 6. Rs16,875
(i) 12% (ii) 259 8. Rs233.75 9. (8 Rs1,632 (b) Rs8,625

0.25% 11. Rs500
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10.

ExERrcISE 9.1
, 21212 5 358 10 9
(I) 3’2151317 (") 2’3’ 17’5
3% 7 3 33 11 32 31 _ 11,11
) 25 "9 a5 a5 15 45 45 V) 575%35
15 18 21 24 456 7
® 2573035 20 ) 16°20"24" 28
5 6 7 8 i 8 10 12 14
() 3036 42" 48 V) 215 18 ;
), 4 6.8 10 5 1015 20 25 ;) 8121628
O 42128 3 0 9 12715 () 18'27'36'63
3
A
(i) < : : ————1 : >
-2 -1 0 1 2
(”) < : +—t i' +—t—— : : >
—1 ] 0 1
8
=7
4
(ili) pa 1 ? : 1 : 1 1 1 N
-2 —1 0 1 2
A
x
(iv) < } ————————1 >
-1 0 1
7 8 4 5
P represents 3 Q represents 3 R represents 3 S represents 3
(i), (iii), (iv), (v)
.4 5 | 4
(i) 3 (i) 9 (iii) 13 (iv) 5
(i) < (i) < (i) = (v) > V) < (i) =
5 5 2 2
.5 5 2 1 32
() > (i) 6 (iii) 3 (iv) (v) -
) 321 5 412 . 333
@) 555 (i) 339 (iii) > 17

i) >



1.

2.

3.

4.

Answers T IE

EXERCISE 9.2

3 I L 17 .82
0 i) 15 (i) 35 ™) 59
% ) 2 o ¥
V) = V) 3 i) 75
.1 23 L1 8 3
O 2 ) & T W) “gg V) =3
.63 .27 54 8 [
O (i) =5 (i) =5 V) 3 V) =
(vi) 1
. 5 3 L4 o1 14
0 - (i) 75 (i) 7 V) 3 V) 3
(vi) o4 (vii) 2
Exercise 11.1
(i) 150000 m? (i) Rs1,500,000,000
6400 m? 3. 20m 4. 15cm; 525 cm? 5. 40m
3lcm; Square 7. 35cm; 1050cm? 8. Rs284
ExERrcise 11.2
(@) 28 cm? (b) 15cm?>  (c) 8.75cm? (d) 24 cm? (e) 8.8cm?
(@) 6cm? (b) 8 cm? (c) 6cm? (d) 3cm?
(@ 123cm (b) 103cm (c) 58cm (d) 1.05cm
(@ 116cm (b) 80cm (c) 155cm
(a 91.2cm? (b) 11.4cm
length of BM = 30cm; length of DL =42 cm
60
Area of AABC = 30 cn??;, length of AD = 13 cm
Area of AABC = 27 cn?;, length of CE=7.2cm
ExErcise 11.3
(@) 88cm (b) 176 mm (c) 132cm
550
(@) 616 mm? (b) 1886.5m? (c) — cm?

7
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3. 245m; 1886.5m? 4. 132m; Rs528 5. 21.98 cn??

6. 4.71 m; Rs70.65 7. 25.7cm 8. Rs30.14 (approx.) 9. 7cm; 154 cm? 11cm; circle.
10. 536 cm? 11. 23.44 cn?? 12. 5cm; 78.5 cm? 13. 879.20m?
14. Yes 15. 119.32m;56.52m 16. 200Times 17. 94.2cm

ExErcisE 11.4

1. 1750 m?; 0.675 ha 2. 1176 m? 3. 30cm?

4. (i) 63m? (i) Rs12,600 5. (i) 116m? (i) Rs31,360

6. 0.99hg; 1.2 ha 7. () 441m2 (i) Rs48,510 8. Yes, 9.12mcord isleft
9. (i) 50m? (i) 12.56m? (i) 37.44m? (iv) 12.56m

10. (i) 110cm? (i) 2150 cm?; 11.66 cn?

Exercise 12.1

1 1
1. () y—-z (i) > x+y) (i) z (iv) 2 pq (V) x> +y? (vi) 5+3mn
(vii) 10-yz (viii) ab—(a+b)
2. () (9 i 3 (b) 1+x|+x2 (c) y —Iy3
I | | I 1, y' ¥
X -3 1 X X A
7 AN s NS
XX 1y Yy
d) 5xy24|r7x2y (© —ab+ 2|b -3a
| | | | |
Sxy’ Xy —ab 26 34
/’Iw\\\ //I \\\ //T\\ //T\\ /’T\\
55Xy 7 X Xy -1 a b 2 b b 3 a a
(i) Expression Terms Factors
(@ —-4x+5 —4x -4, %
5 5
(b) —4x + by — 4x —4.X
Sy Sy
(©) Sy + 3y? 5y 5y
3y? 3yy
(d) Xy+2x%y? Xy Xy
2x2y? 2,% %Y,y
(e) pa+q Ppq p, g
q q




4. (a)

Answers T

(f) [1.2ab—2.4b+3.6a 1.2ab 1.2,ab
—2.4b -24,b
3.6a 3.6,a
ol 3t 3, 3,
4 4 4 4
1 1
4 4
(h) | 0.1p?+ 0.2¢? 0.1p? 01, p p
0.29? 0.2,q,9
Expression Terms | Coefficients
(@) 5 - 3t? -3t -3
(i) RSN etthic t 1
t? 1
t 1
(iii) X+ 2xy + 3y X 1
2Xxy 2
3y 3
(iv) 100m +1000n 100m 100
1000n 1000
V)| — P+ 7pg - PP S
7pq 7
(vi) 1.2a+0.8b 12a 12
08b 0.8
(vii) 3.14r? 3.14r? 3.14
(viii) 2(1 + b) 2l 2
2b 2
(i) 0.1y + 0.01y? 0.1y 0.1
0.01y? 0.01
Expression Terms with x | Coefficient of x
@) yx+y y2X y?
(i) | 13y*-8Byx — 8yx -8y
(iii) X+y+2 X 1
(>iv) 5+z+ 2 ZX z
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(V)| 1+x+xy X 1
Xy y
(vi) 12xy? + 25 12xy? 12y?
(vii) 7 Xy xy? y?
(b) Expression Terms with y? | Coefficient of y?
0] 8 —xy? - xy? - X
(i) 5y + 7X 5y? 5
(i) | 2x2y — 15xy? + 7y? —15xy? —15x
7y? 7
5. (i) binomid (i) monomid (i) trinomid (iv)
(v) trinomia (vi) binomid (vii) binomid (viii)
(ix) trinomia (x) binomid (xi) binomid (xii)
6. (i) like (ii) like (i) unlike (iv)
(v) unlike (vi) unlike

monomia
monomia
trinomia
like

7. (A) —xy?, 2xy?; —Ayx?, 20xy; 8x2, —11x2, — 6x3; 7y, y; — 100X, 3x; — 11yX, 2xy.

(b) 10pg, —7qp, 78qp; 7p, 2405p; 8q, — 1000, —°q?, 1207p?% —23, 41; —5p?, 701p% 13p%q, qp?

ExERcISE 12.2

1. (i) 8-32 (i) 72+1222-20z (i) p—q
(V) 8x%y + 8xy? — 4x2— Ty?
2. (i) 2mn (i) —5tz (i) 12mn-4
(v) 7x+5 (vi) 3m-4n-3mn-3
(viii) 5pqg + 20 (ix) O X) —x—y*-1
3. (i) 6y? (i) —18xy (i) 2b
(v) 5m?—-8mn+8 (vi) x*-bx-5
(vii) 10ab — 7a%— 7b? (viii) 8p?+ 80— 5pq
4. (@) xX+2xy—Vy? (b) 5a+b-6
5. 42— 3y?* — xy
6. (@ -y+11 (b) 2x+4
Exercise 12.3
1. () O @i 1 @iy -1
2. () 1 @i -13 @) 3

(iv)
(vi)
(iv)
(vi)

(iv)

(iv)

a+ab
4y -3y
at+tb+3
Ox%y — 8xy?

5a + 5b — 2ab

1

3. ()-9 (i)3 (ii)0 (v)1



ANSWERS

4. (i) 8 (i) 4 (i) 0 5. (i) -2
6. () 5x-13;-3 (i 8x-1;15 (i) 11x-10;12
7. () 2x+4;10 (i) —4x+6;—6 (i) H5a+6;11 (iv) —8b+6; 22
8. () 1000 (i) 20 9. -5 10. 2a2 +ab+3; 38
ExErcise 12.4
1. Symbol | Number of Digits [ Number of Segments 2. ()
(ii)
C : .
10 51
100 501 (iii)
4 5 16
10 31 (iv)
100 301
H 5 27 (v)
10 52
100 502
ExEercise 13.1
1. () o4 (i) 729 (i) 121 (iv) 625
2. () 6* (i) t? (i) b* (iv) &?x7° (v)
3. () 20 @iy 72 (i) 3° (iv) 5°
4. (i) 3 (i) 3° (i) 28 (iv) 20 (v)
5. () 28x3* (i) 5x3* @iy 2x3Fx5 (iv) 2xFx
6. () 2000 (i) 19 (i) 40 (iv) 768 (v)
(vi) 675  (vii) 144 (viii) 90000
7. () -64 (i) 24 (i) 225 (iv) 8000
8. () 2.7x102>15x 108 (i) 4x10%<3x 107
ExErcise 13.2
1. () 3% (i) 6° (i) a® (iv) 7¢*2 (v)
(vii) (ab)* (viii) 3% (ix) 28 (x) 8-2
2. () 3 (i) 5° (i) 5° (iv) 7x11° (v)
(vii) 1 (viii) 2 (ix) (2a)? (x) a (xi)

(in2 (o (v)2
(iv) 11x+7;29
(v) 3a—2b-9;-8

2n-1— 100":199
3n+2— 5":17;
10 32;
100™: 302
in+1— 5M:21;
100: 41;
100" : 401
7n+ 20 — 5" : 55;
10" : 90;
100t : 720
n+1— 5":26;
10": 101

22x @ (vi) a®xctxd

210

0

53 (vi) (10)°
3orl (vi) 3
a’b (xii) 28
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. (i) Fase 10 x 10" = 102 and (100)1 = 102
(iii) False; 65 =25 x 3
S () 22x3 (i) 2xFx5

(iv) True 3*=1,(1000)°=1
(i) 3 x2¢ (iv) 286x3

ExEercise 13.3
279404

=2x10°+7x10°+9x10°+4 x 102+ 0 x 10" + 4 x 10°

(i) False; 2°=8,52=25

5. (i) 98 (ii)% (i) 1

3006194 =3 x 106+ 0x10°+0x 10*+6x 103+ 1 x 10+ 9 x 10* + 4 x 10°
2806196 =2 x 1084+ 8x10°+0x 10*+6x 10°+ 1 x 10°+ 9 x 10+ 6 x 10°

120719 =1x10°+2x10°+0%x 103+ 7 x 10+ 1 x 10" + 9 x 10°
20068 =2x10°+0x10°+0x10°+ 6 x 10" + 8 x 10°
(a) 86045 (b) 405302 (c) 30705
(i) 5x10 (i) 7x10° (i) 3.1865 x 10°
(v) 3.90878 x 10* (vi) 3.90878 x 10°
. (8 384x10°m (b) 3x 10 m/s (c) 1.2756 x 10’'m
(e) 1x10" (f) L.2x10"years (g) 3x10°m
(i) 1.353x10°km®  (j) 1.027 x 10°

ExEercisE 14.1
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(d) ©

(d) 900230

(iv) 3.90878 x 10°

(d 14x10°m
(h) 6.023 x 10%
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(¢) Rhombus

(b) Triangle

(@) Square



I T 1/ ATHEMATICS
1 1 1
(D D
|
|
|
|
- | !
(d) Circle (e) Pentagon (f) Octagon
| I - I
L ! - i >
|
(a (b) (c)
N ! / ! N ! 7
D : f%
, ()
(e) () )
7. (@ 3 b 1 (¢ O (d 4 (e) 2
(99 O (hy O (i) 6 () Infinitely many
8. (@ AH,I,M, O, T,U, VW, X,Y (b B,C,D,EH, IO X
(¢c) O, X,I,H

10. (a) Median (b) Diameter
EXERCISE 14.2

1. (@, (b), (d), (), (f)
2. (a) 2 (b) 2 © 3 d 4 (e 4 (f) 5

(9 6 (h) 3
ExERcISE 14.3

3. Yes 5. Square 6. 120° 180°, 240°, 300°, 360°
7. () Yes (i) No

EXxERcISE 15.1
1. Netsin(ii), (iii), (iv), (vi) form cubes.





